DELHI PUBLIC SCHOOL, BHILAI

Date : 20.09.2023 MIDTERM EXAMINATION - 2023 Time : 3 Hrs,
Class : IX Subject : English Communicative Max. Marks : 80

General Instructions:

1.

1.

2.

The question paper contains FOUR sections — READING SKILLS, WRITING SKILLS, GRAMMAR and
LITERATURE TEXTBOOK.

Attempt questions based on specific instructions for each part,

SECTION A: READING SKILLS (20 Marks) "

Read the passage given below:

I.

One of the great values of punctuality is that it gives discipline to life, We have to get up on time. We have
to do things at the appointed time. All these entail certain amount of sacrifice. It dispels laziness and
Iemoves our “take- it — easy aftitude’. A disciplined person always gets recognition and social acceptance,
He is wanted and appreciated. Therefore, punctuality can make us socially acceptable people.

. Another significant merit of punctuality is that it provides ample time to do our work correctly and

properly. Doing things hurriediy or haphazardly can have disastrous consequences. When we do things in
time there is every chance that they end up as fine works.

. The virtue of punctuality is said to be the key to success. Look at the great world leaders who have achieved

fame and success. Punctuality was their hallmark, They kept their promises. Punctuality is a virtue that is
appreciated by all. Washington once took his secretary to task for being late. The secretary laid the blame
upon his watch. Washington reported: “Then, Sir either you must get a new watch or I must get a new
secretary””. People like them are ideals whom we should follow in carnest,

- When individuals are not punctual they cause a lot of inconvenience to others. People have to wait for them

and waste their valuable time. Want of punctuality reveals want of culture and is discourteous to the person
we fail. Unpunctuality invites trouble and worry. History is full of cases which show that lack of
punctuality has caused defeat, loss of kingdom and golden opportunities. Tt is said that Napoleon lost the
Waterloo in 1815 because one of his generals came late. Many people lose good opportunities of job or
promotion when they reach late for appointment.

- All of us are not borm with the virtue of punctuality. We have to cultivate it painstakingly. Only constant

vigil and practice can implant this virtue.

It calls for great deal of sacrifice. It calls for courage to root out laziness and the ‘take — it — easy aftitude’.
It demands a disciplined life. That is why few individuals have the virtue of punctuality. But, know it, for
certain that it is the surest way to success.

Based on your understanding of the passage answer the questions given below: (1x10=10)

I A disciplined person always gets :
(1) recognition (ji) social acceptance (ii1) appreciation (iv) all of these

II. How did the great world leaders achieve fame and success in their lives ?

II State whether the following statement is true or false-
We are not born with the virtue of punctuality,

IV. Choose the option that completes the sentence given below:
The of punctuality is said to be the key to

1. virtue 2. merit 3. failure 4. inconvenience 5. success
(iy2and 3 (iyland5  (iii) 3 and 4 (iv)2Zand 4
V. What does the want of punctuality reveal?
(i) want of entertainment (1i) want of study (iii) want of civilization (iv) want of culture
VI. Which battle did Napolcon lose and why?
1. Battle of Panipat 2. Baitle of Waterloo 3. One of his generals came late.
4. He was badly tired. 5. He entertained whole night.
(i) 2 and 3 (i1} 1 and 4 (iii) 1 and 5 (iv)2 and 5
VIL invites trouble and worry.
(i) Punctuality (1) Unpunctuality {iii) Discipline (1v) Success

VIII.  According to the passage ‘take --it casy -attitude’ means-
(i) tohurry up  (ii) to exert too much (ii1) to relax and calm down  (iv) to keep on one’s toes

IX.  What would be the consequences of not maintaining punctuality in your work?
X.  Give one word for * to keep a strict watch’ ( para 5)
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2. Read the passage given below:

L)

1. The house sparrow, the once most commonly found bird species in urban cities is also the most loved one.

This small brown - coloured bird, not bigger than a tennis ball is a social species found in groups of eight to
ten, chirping and chattering to communicate with each other. True to its love for urban spaces, the house
sparrow is known to nest in buildings, finding crevices and holes in walls, or at best, using the bird houses
and nest boxes put out by humans in their gardens. It feeds mostly on seeds, but in the breeding season
adults feed their young ones with insects.

. House sparrows have evolved with humans, and are known only to live in close contact with us, instead of

forests. For vears, these little birds had peacefully coexisted with us in our buildings and gardens. But in
recent years these birds are becoming hard to spot around. The reasons attributed are : shrinking cities
which are no longer a suitable habitat for the house sparrow, as the new and modern designs of
infrastructure does not give any room for the sparrow to nest; pollution caused by microwave towers and
pesticides; the house sparrow loses its foraging grounds ( natural grasslands) as the green spaces in our

cities give way to more concrete constructions.
? SF}O»«»{ THE EEFvY
| }

A sesesial balindg,
FhO o S Spare i, e
saight i S T a-?"j
16 OCM e grmu%m‘ s

[ A PR

S ,g 1 CM

average bir - Flios at 2 ; Fahisrud i
enpreianey | sgptmined @f 1 mosEstinemeat
ANy | BT niters 1 At s

e brote | OFucs 8o

Lok 4 g
natured frsbs bt
ProoMes tigs e
Charme W agraseiiiueai
prasciices
Eipctrompgnetic
saddiptiom $rorrs iy
Praberipiant Sred T ik

World Sparrow Day is celebrated on March 20 to spread awareness on the importance of conserving
sparrows and other birds. The goal of commemorating World Sparrow Day is to utilize it as a platform to
emphasise the importance of sparrow conservation as well as urban biodiversity conservation.

Based on your understanding of the passage answer the questions given below: (1x10=10)

I. Which of the following statements is TRUE as revealed in the above passage?
(a) Humans treat the sparrows as enemies
(b) There has been a rise in the death of sparrows due to lack of food and water.
() Sparrows are affected by the electromagnetic radiation from electronic devices.
(d) Sparrows can be kept as pets in houscholds.

II. The writer calls sparrows as our ‘feathered companions’. Which «fthe following best explains 1t?

(a) They like to socialize and live in groups.

(b) They occupy urban spaces.

{c) They build their nest anywhere in buildings.

(d) Sparrows have cvolved with humans and live around us.

IIl. The author lists out ‘pollution’ as the cause of disappearance of sparrows. Which of the following facts,

as explained above, supports the claim?

(a) Use of pesticides

(b) Land pollution caused by excessive dumping of waste
{¢) Water pollution

(d) Noise pollution caused by traffic on land

(e} Microwave towers

(1) (a)and (¢) (i) (b), (c)and (a) (i) (b)and (c) (iv) (d) and (e)

TV. As given in the picture, artificial nests can help sparrows -

(a) get a safe place for breeding and to roost

(b) feel warm and comfortable

(¢) have enough to eat )
(d) feed their young ones '

V. The passage above DOES NOT give us any idea about a SparTtow’s — . _
(i) Physical appearance (ii) Breeding seasons (iii) Speed and flying capacity (iv) Feeding habits

V1. As given in the picture, electronic gadgets like T.V. and mobile phones are one of the causes of fast

disappearance of the sparrows. Why?
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VII. The writer uses the expression *shrinking citics ‘as a cause for sparrow’s disappearance because of —
(a) Lack of space in the cities" (b) Congestion and population in the cities
() Modern infrastructure that killed their nesting spaces  (d) The reduced agricultural lands
VIII. Which human actions mentioned below WILL NOT help in bringing sparrows back to our houses?
(1) Leaving a bowl of water and some grains in places visited by birds.
(2) Growing thick bushes and shrubs and closely fencing them.
(3) Growing plants in open spaces around our houses.
(4) Construction of high rise buildings.
(5) Hanging artificial nests.
(6) Overuse of our household electronic gadgets that emit signals.
(a)4and 6 (bY4 and 3 (c)2and 6 {(d)land 5
IX. Every yearon_____, World Sparrow Day is observed to raise awereness and protect the house sparrows.
X. Give one word for ‘to live’ or ‘to be together at the same time or in the same place as somebody/
something” (para 2)
SECTION B : WRITING SKILLS (24 Marks)

3. You are Rohit/ Rashmi, Head Boy/ Head Girl of Springdales Model School, Dehradun. Write a notice, in not
more than 50 words, for the school notice board regarding the Vanamahotsava to be held in your school,
inviting students to participate in it. Each class should contribute at least five saplings. )

4. Youare Deepti and have just aitended a talk by a doctor on how to tackle the heat doring summer. Using the
inputs given below, copstruct a set of dialogues with five exchanges between the two of you. The first set of
dialogue is given as an example. 3
Example : :

e (ood morning; causes of heat stroke
¢ Body unable to cope with excessive heat; summer season
Example :
Deepti : Good morning doctor, tell me what causes heat stroke.
Doctor : Heat stroke is caused when our body is unable to cope with excessive heat especially in
SUMMET Season.

e symptoms of heat exhaustion
+ fatigue, nausea, cramps and headache

¢ steps to avoid
¢ stay in shade, drink fluids to replace lost salt; rest

¢ difference between heat stroke and heat exhaustion
» when left untreated heat exhaustion can progress to heat stroke

s guide 1o stay protected
s plenty of water, take rest and don’t exert much

e thank you, your advice
» take care, stay healthy
3. You are Amt/Amita staying in a hostel at 143/2, Ram Murthy Nagar, Bengaluru. You cannot be with your
parents on Mother’s Day. Write a letter, in about 120 words, to your mother expressing your love and concern
for her and also about your inability to join her on this special day. (7)

6. Write a paragraph in about 150 words on how the works of great people inspire us to work selflessly for the
cause of humanity. Use the following hints (8)

Nobel laureates brought laurels — greatness not confined to a couniry — belong to bumanity- irrespective of
nationality — inspire to work selflessly — cause of humanity — Tagore’s beautiful words — inspiration to
many — pursue a cgreer in literature — Theory of Raman effect — encouraged generations — scientifically
inquisitive - Mother Teresa — courageous — made planet a better place — Amartya Sen — theory of human
development — brought great change —econormies of the world work today.

SECTION C: GRAMMAR (18 Marks)
7. Rearrange the following words and phrases to form meaningful sentences. The first one has been done as an
example. (1X3=3)
Eg: friends/ 1/ my/ were/ grandmother/ and/ good
Ans: My grandmother and 1 were good friends.

(a) left me/ my/ city/ parents/ with her/ they/ in /went to/ live/ when/the
{b) morning/ to/ wake/ used/ up/ the/ in/ she/ me
(c) used to say/ in &/ prayers/ sing-song/ monotenous/ morning/ she/ her/ voice
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8.  Fill in the bianks by choosing the most appropriate option from the ones given below: (1X3=3)
An automobile engineer works (a)  the vehicle manufacturing industry. Engineers hired _(b)__reputed
auto companies go through a year’s training in which they are (c)  everything about designing a vehicle.

{a) (i) for (ii) of (1i1) between (iv) since
{b) (i) from (i) on (iii) of (iv) by
(¢) (i)teach  (ii) teaches  (iii) teaching {(iv) taught

9.  Inthe passage given below one word has been omitted in each line. Write the missing word along with the
word that comes before and the word that comes after it in your answer sheet. Underline the word that

forms your answet. (1X4=4)
Before Missing word After
Cataract is opacity in the lens the eye. - E.g. : lens of the
(a) The normal lens allows light reach the retina. (a) .......... TSRS
(b} When it becomes opaque and not (B) veiiviiies s
{(c) allow light to reach retina, () T
(d) we unable fo see clearly. (d) ..o el
SECTION D: LITERATURE TEXTBOOK (26 Marks)
10. Read the following extracts and attempt ANY TWO of the three given: (4+4=8)

A. I steal by lawns and grassy plots,
I slide by hazel covers
I move the sweet forget — me — nots
That grow for happy lovers

(&) Which pair of words in the extract indicate noiseless movement —
(i) grassy and hazel (ii) steal and slide (iii) grow and happy (iv) lawns and plots

{b) What are forget- me- nots?

(i) pebbles (1) flowers (i1t} rivers (1v) thorns
(¢) The rhyme scheme of the above stanza is .
(d) The message of the poem ‘The Brook’ is that the life of a brook is

B. Oh!, I kept the first for another day!
Yet knowing how way leads on to way
I doubted if I should ever come back.
(a) Who is ‘T" here?
(1) The poet (i1) The grandmother (111) The Brook (iv) The granddaughter
(b) According to the lines given above what had the poet kept for another day?
(i) The road that he had chosen (ii) The fruits that he had chosen
(ifi) The leaves that he had chosen (iv) The seeds that he had chosen
(¢) “The Road Not Taken’ is a biographical poem by
(d) Why does the poet doubt his coming back?

C. Oris it some more humble lay,
Familiar matter of to-day
Some more natural sorrow, loss, or pain
That has been, and may be again?
(a) These lines refer to -
(i) the song of the bird (i1) the theme of the song (iii) the Solitary Reaper (iv) the poet
(b) In the above context, the natural sorrow, loss or pain could be-
(i) loss of learning (ii) Joss of property (iii) unfulfilled dreams (iv) death or illness of a loved one
(c) ‘Humble lay’ means .
(d) Is the solitary reaper’s song sad or joytul?

11. Attempt ANY SIX of the following in about 30- 40 words. (2x6=12)
(a) In the story ‘How I Taught My Grandmother to Read’, what made the author feel her student had
passed with flying colours? _
(b) What happened to Duke on the evening of October 12, 19577
(¢) What speculation does the poct make about the possible theme of the reaper’s song ?
(d) Why was it difficuit for the poet to make a decision while standing at a junction?
(¢) At what stage is ‘The Brook’ peaceful and calm?
(f) Why does Juliette go upstairs after hearing the doorbell?
(g) What message does the author convey to the readers through the lesson ‘How I Taught My
Grandmother to Read’?
'12. Attempt ANY ONE of the following in about 120 words. (6)
‘Duke was more than a companion, a nurse and a guide for his crippled master’. Explain.
OR
Gaston lacked honesty and fairess in his deals. Do you agree? What values are reflected in his character?
As a businessman, what would be your priority, profit or honesty?
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DELHI PUBLIC SCHOOL, BHILAI

Date : 25.09.2023 MIDTERM EXAMINATION - 2023 Time : 3 Hrs.
Class:IX - Subject : Mathematics Max. Marks : 80

General Instructions :

01.

02.

03.

04.

05.
06.
07.
08.
09.
10.

i1.

12.

13.

This Question paper has 5 sections A-E.

Section A has 20 MCQs carrying 1 mark each.

Section B has 5 questions carrying 2 marks each.

Section C has 6 questions carrying 3 marks each.

Section D has 4 questions carrying 5 marks each.

Section E has three case based integrated units of assessment {4 marks each) with sub-parts of the values of 1, 1
and 2 marks each respectively.

All questions are compulsory. However, an internal choice in 2 questions of 5 marks, 2 questions of 3 marks and 2
questions of 2 marks has been provided. An internal choice has been provided in the 2 marks guestions of Section E.

Draw neat figures wherever required. Take & = %wherever required if not stated.

SECTION-A
Directions (Q. No. 1-20) Section — A consists of 20 questions of 1 mark each.

The decimal expansion of the number v?2 is

(a) a finite decimal (b) 1.41421 (g) non terminating recurring (d) non terminating non recurring
On simplifying (5 +7 ) (2 ++/5 ), we get _

(@ 10+ 5v5+2v7 + V35 (b) 10 + 735 + V35

(€) 10 + 10V35 + 35 (d) 25 ++/35

When 0.001 is expressed in the form p/q, where p and q are integers not having any common factor except
1, then q is equal to

(a) 9 (b) 99 {c) 999 (d) 1000

Ifx — 1 isafactor of 4x3 + 3x* — 4x + k , then k equals

(2) 3 (b) -3 (¢) 0 (d) 4

V3 is a polynomial of degree

(a) 2 (b) 0 (© 1 (d) 2

Zero of the polynomial f{x) = 3x + 7 s

{a) 7/3 by -3/7 (c) —=7/3 @& -7

Which of the following needs a proof?

(a) Theorem (b) Axiom (c) Definition (d) Postulate
“The whole is greater than the part.” This is Euclid’s

(a) Postulate (b) Axiom (c) Element (d) Statement

The number of dimensions, a point has

(2) 0 (b) 1 (@2 (dy 3

Linear pair of angles are

(a) Complementary angles  (b) Complete angles  (¢) Adjacent angles (d) Alternate angles

If two parallel lines are intersected by a transversal line then which of the following pairs of angles are not
equal?

(a) Vertically opposite angles (b) Alternate angles  (c) Corresponding angles  (d) reflex angles

If the measures of two supplementary angles are (3x + 5)and (2x + 5) then x =

(a) 32° (b) 64° (c) 14° {d) 24°

In the following figure, two triangles are shown in which AB=RP, which criterion can be used to show that
the triangles are congruent?

S - g

(8) SAS {(b) SSS (c) ASA

Contd...2



14,

5.
16,

17.

18.

19.

20.

21

22,

24,

25.

2
In the following figure, ABCD is a quadrilateral in which AD=CB and AB=CD, then £ACB is equal to

%ff & M:;gf&
i /"‘/ - j F
y - /
.11:li g&:’x” o "““““‘"‘F'i*"‘“*“——-—“""—“"‘-ﬁ"‘l;[ % e

(a) 2ACD (b) 2BAC (©) 2CAD (d) <BAD
Ina AABC , if AB=AC and BC is produced to D such that ZACD = 100° ,then £A =
(a) 20° (b) 40° (c) 60° (d) 80°
> 0andy < 0, the point (x, —y) lies in
(a) 1 quadrant (b) 11 quadrant {c) III quadrant (d) 1V quadrant

If points P and Q have co-ordinates (—2, 7)and (-5, 9) respectively, then the value of
(abscissa of P)-(abscissa of Q) is

(a) 3 (by -3 (c) -2 (d) 2
Two points having same abscissae but different ordinate lie'on
{a) x — axis (b) y — axis {c) aline parallel to y — axis (d) a line parallel to x — axis

In Assertion (A) — Reason (R) questions, you have to choose correct option amongst the following options:
(a) Both Assertion (A) and Reason (R) are true and Reason is the correct explanation of Assertion (A).
(b) Both Assertion (A) and Reason (R) are true, but Reason (R} is not the correct explanation of Assertion (A).
(c) Assertion (A) is true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is true.
V3

Statement — 1{Assertion) :The altitude ‘p’ of an equilateral triangle having each side ‘a’is given by p = - a.

Statement — 2(Reason) : The area of an equilateral triangle having each side ‘a’ is given by ?az

Statement — 1(Assertion) : The area of a given triangle and the area of a triangle obtained by doubling its
sides are in the ratio 1:2.
Statement - 2 (Reason) : If a, b, ¢ are lengths of the sides of a triangle with semi-perimeter s, then its area is

given by /s(s — a)(s — b)(s — ¢)

SECTION-B
(There are 5 questions of 2 marks each)
Show that 0.2353535 ....... =0.235 can be expressed in the form p/q, where ‘p’ and ‘q’
are integers and g # 0
In the given figure, if AC=BD, then prove that AB=CD. .AA

In the given figure, find the value of ‘y’

m b

8 C

‘.?“Q

‘ OR
If supplement of an angle is three times its complement, then {ind the measure of the angle.

In the given figure LPQR = £PRQ, then prove that £PQS = £PRT

P

30 RT

Find the area of a triangle, two sides of which are
8 cmand 11 cm and the perimeter is 32 cm.

Sides of a triangle are in the ratio of 12:17:25 and its perimeter is 540 cm.

Find its area.
e Contd...3



26.

27.
28.

29.
30.

31.

32.

33.

34.

13

SECTION - C
(There are 6 questions of 3 marks each)
Give one example each of two irrational numbers, the product of which is

(a) arational number (b) urrational number
OR

Find three irrational number lying between v2 and V3 .
Write the statement of 5% postulate given be Euclid.

In the given figure, if PQ || ST, 2PQR = 110° and £RST = 130° find 2QRS.
5 T

OrR
In the given figure, if PQ [| RS, £MX(Q = 135° and 2ZMYR = 40° find 2XMY

P

R mlens = @*

135°
B

- N 44 b

f 14 Y S

If two isosceles triangies have a common base, prove that the line joining their vertices bisects them at right angles.

Write the answer of each of the following questions :

(i) What is the name of horizontal and the vertical lines drawn to determine the position of any point in the
Cartesian plane?

(ii) What is the name of each part of the plane formed by these two lines?

-(iil) Write the name of the point where these two lines intersect?

The lengths of the sides of a triangle are 5 ¢cm, 12 cm and 13 cm. Find the length of perpendicular from the

_opposite vertex to the side whose length is 13 cm.

SECTION-D
{Section — D consists of 4 questions of S marks cach)

Factorise : x3 -+ 13x% + 32x + 20
OR
Factorise : x% — 23x2% + 142x - 120 g

In the given figure, ray OS stands on a line POQ. R
Ray OR and ray T
OT are angle bisectors of o .

LPOS and £50Q , respectively. - 0
If £POS = x,find ZROT . P Q

In right triangle ABC, right angled at C, M is the mid point of hypotenuse AB. C is joined to M and

produced to a point D. Such that DM=CM. Point D 1s joined to point B. Show that
D A

(i) AAMC = ABMD .

(ii) «¢DBC is aright angle .
(iii) ADBC = AACB

(iv) CM = -;-AB

OR 52

In an isosceles triangle ABC with AB=AC,
D and E are points on BC such that BE=CD. Show that AD=AE.

Contd...4



4
35. A triangular part ABC has sides 120 m, 80 m and 50 m. A gardener has to put a fence all around it and also

plant grass inside. How much area does he need to plant? Find the cost of fencing it with barbed wide at the
rate of T 20 per metre leaving a space 3 m wide for a gate on one side.

SECTION-E
(This section has 3 questions of 4 marks each.)

36.  Raju and Manu decided to visit world book fair which is organized every year. During their visit Raju was
fascinated by the cover page of a book with /e written on it. = and e are mathematical constants. In
Euclidean geometry 7 is defined as the ratio of a circle’s circumference to its diameter. The constant ‘¢’ is

known as Buler’s number. Using the knowledge of rational and irrational numbets, answer the following
questions. [ '

(ii) What will be the addition of two rational pumbers?
(iii) If we add two irrationals, the result may be rational or irrational. Give one example of each.
OR
What will be the decimal expansion of a rational number?

37.  Polynomials having one term is called monomial, having two terms are called Binomials and having three
terms are called trinomials. Two students Shraddha and Srishti of Class IX discussed the above facts. One
of their friends Sunaina joined them and tcld that the variable used in polynomial is positive integer and its
highest power is called the degree of the polynomial. Also the degree of a non zero constant polynomial is
zero, and the constant polynomial 0’ is called the zero polynomial.

Rased on the knowledge of polynomials, give the answers of the following questions :
(i) Can 3+t + 2 be considered a polynomial?
(i) Ifp(x) = x'°* + 101 is divisible by x + 1 , then find the value of p(x) .
(iii) What is the name given to a polynomial of degree 2 and degree 37
OR
A polynomial has degree ‘n’. How many maximum real roots/zeros it can have?

38.  Engineers often use the familiar triangular shape for strength in bridge design. Triangles are effective tools
for architecture and are used in the design of bridges, buildings and other structures as they provide strength
and stability. Give the answers of following questions which are based on triangles.

>, -

(i) Intriangles ABC and DEF, if AB=DE, AC=EF and £A = £F using SAS criterion, which two triangles
will be congruent? ,
(i) Will it be possible to construct a triangle with lengths of sides as 5 cm, 4em and 10 cm.? Explain.
(iii) In AABC and ADEF , AB=FD and 24 = 2D . To prove the two triangles as congruent by SAS criterion,
which on pair of sides should be equal.
OR
In AABE , AB=AC and BC is produaced to D such that 2A = 50° , then find the measure of ZACD.
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Class: IX Subject : Science Max. Marks : 80

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

General instruction:
s Question paper comprises 3 sections : A, B and C.
e All three sections are compulsory. In each section, there are MCQs, Assertion — Reason Questions, 2
marks, 3 marks and 5 marks questions. There are overall three Case-Based Questions, one in each
section.

e There is no overall choice in Question Paper i.e. all questions are compulsory. However, internal choice
is provided in some questions.

e In Assertion-Reason Questions of all three sections, the following options are to be considered and one

most appropriate option is to be selected- :

(a) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct explanation of
Assertion (A).

(b) Both Assertion (A) and Reason (R) are correct and Reason (R} 1s not the correct explanation of
Assertion (A).

(c) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

Section — A (Physies : 27 Marks) ‘

01. In uniform circular motion, there is -

(a) No acceleration (b) Acceleration (c) Any of (a)and (b) (d) None of these (1)
02.  The force of gravitation between two unit masses separated by unit distance is called —

(a) Gravitational potential (b) Acceleration due to gravity

(c) Gravitational field (d) Universal gravitational Constant ' (1)

03.  Which of the following graphs is showing uniform motion —

(a) Only (if) (b) Only () (¢) Both (i) and (iii) (d) Only (iv) (1)

04. A bodyis just dropped from a height. Its initial velocity ‘u’ is —

(a) Zero (b) Positive {c) Negative (d) Can’t be decided (1)
05.  Assertion '(A) : Newton second is the unit which measures momentum.

Reasen (R) : Force acting on a body is inversely proportional to rate of change of momenium. (1

06. A constant force acts on an object of mass 2kg for 10 sec. and increases its velocity from Sm/s to 10my/s.
Find the magnitude of applied force. If this force was applied for a duration of 15 sec., what would be
the velocity of the object finally? (2}

(a) A truck of mass M is moved under a force ‘(E)I}f truck is then loaded with an object equal to mass of
the truck and driving force is halved, then how does the acceleration change?
(b} Name the quantity which determines direction of momentum and write S.I. Unit of this quantity.
07.  Derive a relation between ‘g’ and “G’. , (2)
08 (a) Starting from a stationary position, Rahul paddlers his bicycle to attain a velocity of 6 m/s. in 30 sec.

Then he applies brakes such that the velocity of the bicyels comes down to 4 nv/s. in next 5 sec.
Calculate the acceleration of the bicycle in both the cases. (3)

(b) Define variable speed.
09 (a) When a motor car makes a sharp turn, we tend to get thrown to one side of the car , why? Explain
briefly. (3}
{b) Establish the mathematical form of Newton’s 2™ law of motion.
10 (a) If a planet P has mass twice that of the Earth and radius 3 times that of the Earth, then find weight of

! kg mass on the surface of planet P? (3)
(b} State any two importance of Law of gravitation.

11 (a) State two differences between uniform and non uniform motion. (5)

(b} A bus was moving with a speed of 54 km/h. On applying brakes, it stopped in 8 sec. Calculate the
acceleration and distance travelled by bus before stopping.
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(a) Study the given graph of a moving body and answer the following questions :
(i) Calculate acceleration in QM and MN parts of graph.
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(b} Draw v ~ t graph for a freely falling body.

(c) When a body moves along a circular path, a force constantly acts on the body. Identify the force and

draw a diagram to show the direction of this force. Also name the physical quantity which is directed
perpendicular to this force during circular motion,

Read the given paragraph carefully and answer the questions based on it : (4)

Swimming is one of the best exercises. Rita joined swimming classes realising its multiple benefits, Her
younger sister Pari usually goes along with her during swimming classes. One day, Pari asked Rita, the
reason behind pushing water backwards during swimming. As Rita is studying in class 10", she
explained that this act is in accordance with one of the three ‘Laws of Motion® given by Newton. She
even mentioned about two forces involved in the activity of swimming.

(a) Name the two forces referred in the paragraph.

(b) State the law of motion which explains the act of swimming,

(¢} When a bullet is fired from a gun, the gun recoils back, why? Explain.

OR
It’s difficult to step out of a boat near the river bank without pushing the boat backward, why?
Explain. |
. Section — B (Chemistry : 26 Marks)
A gas can be best liquified :
(a) by increasing temperature {b) by lowering pressure
(¢} by increasing the pressure and lowering the temperature (d) none of these (O
When water solidifies to ice, then heat is :
(a} Absorbed  (b) Evolved (c) Nochange (d) Heat may be evolved or absorbed H
10°C temperature is equal to
{a) 163K (by 10K (c) 183K {d) 283K gy
Metal which is liquid at room temperature :
{a) Mercury (b) Sodium (c) Potassium {d) Calcium (1)
Which of the following is not a compound?
(a) Iron (b) Water (c} Magnesium oxide (@) Quick lime (1)
At 0° C the physical state of water is :
(a) Solid (b) Liquid (¢} Both solid and liquid (d) Gas ¢))
Scattering of light occurs when a beam of light is passed through : (1)
(a) Blood (b) Water (c) Salt solution {d) Sugar solution
Assertion (A) : In rainy season, humidity level is quite high.
Reason (R} : In rainy season, air is already saturated with water vapour. : (1)
Assertion {A) : Gas can be compressed on applying pressure.
Reason (R} : Intermolecular force of attraction in gas is more than solid. (1)

What would be the effect of the following on rate of diffusion of liquids?
(1) temperature (ii) density of liquids

- (2
Give reasons for the following ; (3)

(a) A liquid generally flows easily.

(b) Cooling effect of ice at 0°C is more than water at 0°C.

(c) Sponge can be compressed, yet it is a solid. :

What volume of ethyl alcohol and water must be mixed together to prepare 250 mal of 40% volume by

volume solution of alcohol in water? (3)
OR

(a) How can a saturated solution be made unsaturated? (any 2 method)

(b) Identify solute and solvent in tincture iodine.




s 3 .
ve .

.25 {a) Differentiate between true solution and suspension on the basis of : (5)
(1) Nature (type) of mixture (ii) Filtration {iii} Stability
(b) Give an example of each :
(1) solid - liquid homogenous mixture (i1} solid - solid homogenous mixture
OR

(a) Nlustrate an example where both physical and chemical changes takes place simultaneously. (proper

explanation required)

(b) Water is a compound not a mixture. Justify the statement giving two reasouns.
(c) Define Alloy.

26 Read the passage -agg answer the following questions:

The phenomenon of change of liquid into vapour at any temperature below its boiling point is called

Evaporation. The rate of evaporation increases with increase in Surface area, temperature, speed of wind

and decrease in humidity. Evaporation causes cooling due to decrease in kinetic energy of the remaining

liquid after the surface molecules leave. Lower the boiling point of liquid higher the rate of evaporation.

(a) Why are we able to sip hot tea or milk faster from a saucer rather than a cup? (4)

(b) Why does our palm feel cold when we put some acetone on it?

(¢) Why does desert cooler cool better on a hot dry day?

OR
Why clothes dry faster on a windy day? Which kind of clothes we must wear in summer season?
Section — C (Biology : 27 Marks)

27.  Chromosomes are made up of

{a) DNA (b) Proteins (¢} DNA and protein {(d) RNA (1)
28.  The dead element present in phloem is |

(a) Companion Cells (b) Phloem fibres (¢} Tracheids (d) All of the above (1)
29.  Indesert plants, rate of water loss gets reduced due to presence of

() Cutin (b) Cellulose (c) Stomata - (d) Lignin i (1)
30.  The undefined nuclear region of prokaryotes is also known as

{a) Nucleus (b} Nucleolus (¢) Nucleic acid (d) Nucleoid (1)
31.  Which cell organelle plays a crucial role in detoxifying many poisons and drugs in a cell?

(a) Golgi Apparatus (b) Lysosomes (¢) Smooth Endoplasmic Reticulum(d) Vacuoles (1)
32. Assertion (A) : Xylem and phioem are the complex permanent tissues in plants.

Reason (R) : Both are together called vascular tissues. (1)
33 (a) When do chromatin fibres organise themselves into chromosomes?

(b) Name the process by which growth occurs in an organism. State at Jeast one feature about it. (2)
OR

(Give Reason :

(a) Endocytosis is found in animal cells only.

(b) A plant cell when kept in hypotonic solution does not burst.
34.  What is the role of epidermis in plants. How is the epidermal layer specialized in desert plants? 2
35. Name the tissue responsible for growth in plants. What happens when this tissue loses its ability to

divide. . 2)

36 (a) Name the chemical substance present in

(i) Walls of sclerenchyma tissue {i1) Walls of cork cells

(b) Two beakers A and B contain plain water and concentrated sugar solution respectively. Equal number of

dried raisins are placed in each of them, for a few hours and then taken out.

(1) Explain the reason for the difference in the physical appearance of raisins which were taken out of
the two beakers.

(ii) On the basis of above observation, categories the two solutions as hypotonic and hypertonic.  (3)

37. (a) Name the tissuc which helps in easy bending of stems and other soft parts of the plant. Mention any two

characteristics of this tissue.

(b) Draw a neat and labelled diagram of this tissue.

OR

(a) Draw a neat and labelled diagram showing section of phloem tissue.
(b) Name the different types of cells that make up phloem. (3)
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38 (a) Identify the cell organelle — L
(1) Its full of cell sap and provides rigidity and turgidity to cell, ‘
(ii) Gives fruits and flowers their distinctive colowur,
(iil) Here oxidation of glucose takes place to produce energy.
(iv) Plays central role in cellular reproduction.
- (v) Transporting channels of the cell.
(vi) Packaging and despatching unit of the cell.

(b) What is membrane biogenesis? R (5)
O

(a) Describe the structure of mitochondria with emphasis on its membrane coverings. How can we relate
the structure of the membrane with its functions. '

(b} What are leucoplasts? Where are they located?
(c) State any one difference between mitosis and meiosis process.

39.  Read the passage and answers the following questions:

Sita in her science class, learnt about the tissues that help a plant to survive. She learnt that ail living

organisms need some method of moving substances from one part to the other. Plants have a very
efficient transport system. ‘

Xylem moves X and Y from roots to leaves. Phloem moves 7, from the leaves of plants by the process of
translocation. The xylem and phloem are arranged in groups called vascular bundles.

{a) Why are xylem and phloem classified as complex permanent tissues?
(b} What is the function of companion cells of phloem tissue?
{¢) (i) What are X and Y that xylem transports.
(ii) What is ‘Z’ that is mentioned in the paragraph?
OR
What is the advantage of presence of vascular bundle in higher plants? (4)
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DATE : 0-3.10.2023 MIDTERM EXAMINATION - 2023 : Time : 3 Hrs.
CLASS : IX Subject — Social Science Max. Marks : 80
General Instructions:
I.  Attempt all questions.

2. Answer | mark questions as directions given :
3. Very Short Answer Type Questions carry 2 marks each. Answer to each question should not exceed 40

words.

4.  Short Answer Type Questions, carry 3 marks each. Answer to each question should not exceed 60
words. ‘

5. Long answer type questions, carry 5 marks each. Answer to each question should not exceed 120
words.

6.  Case based questions with three sub questions carry 4 marks each. Answer to each question should not
exceed 100 words.

7. Map based question carries 5 marks with two parts, 37 (a) from History (2 marks) and 37 (b) from
Geography (3 marks).

8.  There is no overall choice in the question paper. However, an internal choice has been provided in a
fevy questions. Only one of the choices in such questions has to be attempted.

9. Inaddition to these, separate instructions can be there for some questions, wherever necessary.

_ History and Civics : 40 Marks

MCQs . (1x12=12)

1. Identify the correct option that describes the event given below. ‘
(1) Rumours spread that the king would soon order the army to open fire upon the citizens.
(ii) Some 7,000 men and women broke into a number of government buildings in search of arms.

(ii) A group of several hundred people marched towards the eastern part of the city and stormed the
fortress-prison. ‘

(2) Louis XVIabdicated  (b) Fall of the Bastille
{(¢) The Reign of terror (d) The rule of the Directory

2. Which country has made its citizenship rules in such a way that people belonging to Russian minority
find it difficult to get the right to vote?

(a) Saudi Arabia (b) Fiji (c) Estonia (d) Bothaandb
3. Consider the following statements about democracy and choose the right answer from the options
given below.

{A) Rulers elected by the people take all the major decisions.

(B) Elections offer a meaningful choice and fair opportunity to the people to change the current rulers.

{C) This choice and opportunity is available to all the people on an equal basis. '

(D) The exercise of this choice leads to a government limited by basic rules of the constitution and
citizens’ rights.

{(a) A,B,Cand D (b) A,BandD (¢} Cand D (d) B,Cand D

4.  There are two statements marked as Assertion (A) and Reason (R).
Mark your answer as per the codes provided below:

Assertion (A) : In 1928, Motilal Nehru and eight other Congress leaders drafted a constitution for
India. In 1931, the resolution af the Karachi session of the Indian National Congress
dwelt on how independent Tndia’s constitution should look like.

Reason(R) : Both these documents were committed to the inclusion of universal adult franchise, right

to freedom and equality and to protecting the rights of minorities in the constitution of
independent India.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A)
(b} Both A and R are true and R is the correct explanation of A.

(¢} (A) is correct but (R) is wrong

(d) (A)is wrong but (R) is correct

5. Which of these 1s a provision that a democratic constitution does not have?
(a) Powers of the head of the state (b) Name of the head of the state
{c) Powers of the legislature (d) Name of the country

6.  Identify from the options given below, what did this symbol meant to the French Revolutionaries?

(a) Sceptre (b) Eternity a
{c) Knowledge - (d) The act of becoming free
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7. Evaluate the facts related to the French Revolution of 1789 by identifying the appropriate statements -
among the following options: : .

(i) France became a modern Nation State.
(ii) The slogan of ‘Equality, fraternity and liberty’ was raised in Europe.
(iii) The Old Regime ended. ) _
(iv) Raja Ram Mohan Roy and Tipu Sultan got influenced by the values of the revolution.

Options:
(a) Statements i and ii are appropriate. (b) Statements i, 1i and iii are appropriate.
(c) All the statements are appropriate. (d) Only statement iv is appropriate.
8. The .coooiviiiiiiininnns U ST was the umbrella organisation that led the struggle

against the policies of segregation in South Africa. (Fill in the blank)

9.  Arrange the following statements in sequential order based on the events that shaped the Russian
Revolution of 1917.

(i) The Bolshevik leader Vladimir Lenin returned to Russia from his exile.
(i) The Tsar allowed the creation of an elected consultative Parliament or Duma.
(iii) The Bloody Sunday incident occurred.
(iv) The Russian Social Democratic Workers Party was founded by socialists who respected Man<’s
1deas.
Options: .
(a) iv, 1ii, ii, I {(b) ii, 1, tv, 111 (c) 1, 1v, 1ii, 1 (@ i, i, 11, v
10. Consider the statements given below and choose the correct answer.
Statement I : Leaders keep changing in a democracy and this leads to mstability.
Statement IT : Democracy leads to corruption for it is based on electoral competition.
(a) Statement (i) is correct and (ii) is incorrect :
(b) Statement (i} is incorrect and (if) is correct
(c) Both (i) & (ii) are incorrect
(d) Both (i) & (ii) are correct

11. Choose the right option to fill in the blank.

The concept of Fundamental Rights has been borrowed by the makers of our constitution from the
constitutien of

(2) The USSR (b) The UK (c) The USA (d) The UAE

12.  Which of these is not a good argument in favour of democracy?
(a) People feel free and equal in a democracy.
(b) Democracies resolve conflict in a betier way than others.
(cy Democratic government is more accountable to the people.
(&) Democracies are more prosperous than others.

VERY SHORT ANSWER QUESTION (2X3=06)
13. How does a democratic country differ from a Non democratic one? Analyse two ways.

14, Socialists were active in the countryside through the late nineteenth century. They formed the Socialist
Revolutionary Party in 1900. But the party was divided over the strategy of organisation. What were
the two groups? Describe in brief. ‘

15. Whatdo SIou understand by the terms *Socialist’ and “Secular’ given in the Preamble to the
Constitution? Write in brief.

SHORT ANSWER-BASED QUESTIONS (3x2=6)
16. 'What happened during the Reign of terror?

' 17. Why should we accept the Constitution made by the Assembly more than 70 years ago? Evaluate three
factors.

LONG ANSWER-BASED QUESTIONS (5x2=10)

18 (a) Explain the rise of Napoleon Bonapai*t. Write three of his administrative reforms.
' - OR
(b) The October Revolution of Russia had resulted in some immediate changes. What were those changes?
19 (2) Explain the term ‘Democracy’? Analyse three of the most important features of democracy.
OR
(b) Explain the term ‘Preamble’? Express three points of importance of the Preamble to the Constitution
of our country. :
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' CASE-BASED QUESTIONS (4x1=4)

20.

Read the source given below and answer the questions that follow:

Peasants made up about 90 per cent of the population. However, only a small number of them owned the
land they cultivated. About 60 per cent of the land was owned by nobles, the Church and other richer
members of the third estate. The members of the first two estates, that is, the clergy and the nobility,
snjoyed certain privileges by birth. The most important of these was exemption from paying taxes to the
state. The nobles further enjoyed feudal privileges. These included feudal dues, which they extracted from
the peasants. Peasants were obliged to render services to the lord — 1o work in his house and fields ~ to
serve in the army or to participate in building roads. The Church too extracted its share of taxes called
tithes from the peasants, and finally, all members of the third estaie had (o pay taxes 10 the state. These
included a direct tax, called taille, and a number of indirect taxes which were levied on articles of everyday

consumption like salt or tobacco. The burden of financing activities of the state through taxes was borne by
the third estate alone.

(a) Who enjoyed certain privileges by birth? (1)
(b} Which Estate bore the burden of financing activities of the state? (1)
(¢) Identify two services that the peasants rendered to the lords?" 2)
MAP SKILL-BASED QUESTION (1x2=2)

21. Identify and write the names of the two places, marked as ‘A’ and *B’ on the given political map of

22.

23.

24.

25.

26.

world.

{A) This country' was rule
(B) This country led the Triple Alliance in the First World War.
Geography : 20 Marks

India shares its land boundaries with which countries in the east. (1)
(2) Pakistan and Afghanistan (b) Myanmar and Bangladesh

(¢) China Nepal and Bhutan (d) Srilanka and Maldives

Assertion (A) : Indian desert is located at the western side of Aravali range.

Reason (R) : Luni is the largest river in this region. 1)
(a) Pakistan and Afghanistan (b) Myanmar and Bangladesh

(¢) China Nepal and Bhutan (@) Srilanka and Maldives

‘What does the Himalayan mountain represent? 1)
(a) Youthful topography (b) High peaks and deep valleys

{c) Fast flowing rivers {(d) All of the above.

A steel manufacturing company from South Korea wants to open a branch in India. Which
physiographic division of India should he consider for the purpose? Justify your answer with any one
1€ason. _ (1+1=2})
Why does our country need a standard meridian? Mention the standard Meridian of India. (2+1=3)

27 (a) “Northern plain is a densely populated physiographic division™ Describe the Northern plains in 5 points.

28.

OR

(b) Tslands are the integral part of India. Write a short note on the island groups of India. Mention at least

two points of each. - (5)
Read the source given below and answer the questions that follow:

The Indian landmass has a centra! location between East and West Asia. India is a southward extension of
the Asian continent. The trans-Indian Ocean routes, which connect the countries of Europe in the West
and the countries of East Asia, provide a strategic central location to India. The Deccan Peninsula
protrudes into the Indian Ocean, thus helping India to establish close contact with West Asia, Africa, and
Europe from the western coast and with Southeast and Fast Asia from the eastern coast. No other country
has a long coastline on the Indian Ocean as India has and indeed, it is India’s eminent position in the
Tndian Ocean, which justifies the naming of an Ocean after it. Since the opening of the Suez Canal in
1869, India’s distance from Europe has been reduced by 7000 km. India’s contacts with the World have
continued through ages but her relationships through the land routes are much older than her maritime
contacts. The various passes across the mountains in the north have provided passages to the ancient
travellers, while the oceans restricted such interaction for a long time. These routes have contributed to
the exchange of ideas and commodities since ancient times.

(1) When did the Suez Canal first open? How has it helped India? 1
(2) What provided passages across mountains for ancient travellers to [ndia? (1)
£2\ Whe fhe central Tocation of Tndia at the head of Indian ocean is considered of great significance.  (2)
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37.

38.
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(i) Kanchanjunga (ii) Deccan Plateau  (iil) Capital of Uttar Pradesh (iv) Vindhya Range
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Consider the following statements and select the correct option associated with farm labourers: (1)
{a) farm labourers come either from landless families or families cultivating small plots of land

(b) farm labourers have a right over the crop grown on the land. -

(¢) There is no competition for work among the farm labourers in Palampur.

(d) Farm labourers are hired for the full year,

Assertion (A) : Educated parents are found to invest more heavily on the education of their child.
Reason (R) : They want their child should have a good future. ' 1
Choose the correct option.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A} and (R) are true but (R) is not the correct explanation of (A).

(c) {A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

Which of the following arc investment in human resource development? &)

(a) Modern technology (b) Healthcare and education

(c) Food and Drink (d) Medicine and transportation

Which Asian country has invested its major part of resources on people especially in the field of

education and health? 1))

Why are women employed in low paid job? (13

Explain the term Physical Capital, Mention its different types with example. (1+2)

Distinguish between economic and non economic activities. 3)
' OR

Distinguish between Market and Non Market activities.

Read the following description and answer the question that follows @ (1x4=4)

Mishrilal has purchased a mechanical sugarcane crushing machine which runs on electricity and has
set it up on his fields. Sugarcane crushing was earlicr done with the help of bullocks, but people
prefer to do it by machines these days. Mishrilal also buys sugarcane from other farmers and

processes it into Jaggery. The jaggery is then sold to traders at Shahpur. In the process Mishrilal
makes a small profit. :

(i) Mention the capital Mishrilal needs for setting up his Jaggery manufacturing?
(ii) Who provides the labour in this case?

(iif) Why Mishrilal is unable to increase his profit?

(iv) Why does Mishrilal sell his jaggery to traders in Shahpur and not in his village?

Explain the initiative taken by the government 10 improve elementary educatior in India. 5)
OR :

What do you mean by the term “‘Unemployment’? Explain the different types of Rural and Urban

Unemployment with examples. (1+3+1)
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29. On the same outline map of India locate and label any 3 of the following with suitdble symbols. (1x3=3)
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. All the questions are compuisory.

s  There are 50 questions of 1 mark each.
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01. Which of the following has maximum energy —

{a) Blue light (b) Green light {c) Red light {d) Yellow light
02.  In uniform motion —

(a) Velocity remains zero (b) Acceleration remains zero

(¢) Velocity is variable (d) Acceleration is variable

03.  The displacement-time graph for two particles A and B are straight lines inclined at angles of 30° and 60°
with the time axis. The ratio of velocities V4 1 Vg is —
(@) 1:2 (b) 1:vV3 (©) V3:1 (@ 1:3

04.  Anathlete completes one round of circular track of radius R-in 40 sec. What will be his displacement at the
end of 2 min. 20 sec.?

(a) Zero (b) 2R (c) 2mR (dy 7nR
05. A cricket ball is thrown up with a speed of 19.6 m/sec. The maximum height it can attain is
(a) 9.8 m (b) 19.6 m (c) 294 m {(d) 39.2m

06.  When a bus suddenly takes a turn, the passengers are thrown outwards because of —
{a) Inertia of direction {(b) Acceleration of motion ~ {¢) Speed of motion  (d} Both (b) & (c)
07. A periscope is used for

{a) Observing distant object (b) Seeing the magnified image of near object
(c) Sceing objects over the obstacles (d) Observing the spectrum
08.  The sound of which of the following frequencies is audible to a man —
(a) 1 Hz (b) 1000 Hz {c) 200 KHz {(d) SHz
09.  The properties of ultrasound that makes it useful are —
(a) High power and high speed {b) High power and good directivity
(c) High frequency and high speed (d) High frequency and high power
10.  Which of the following is not a unit of energy —
(a) Calorie (b) Joule {¢) Electron volt (d) Watt
11.  Ohm’s Law is true for — '
(a) A metallic conductor at low temperature (b) A metallic conductor at high temperature
(¢) An electrolytes when current passes through them (d) A diode when current flows
12.  Anceclectric fuse is based on — '
(a) The heating effect of the current - (b) The chemical effect of the current
{c} The magnetic effect of the current (d) None of these
13. The magnetic field lines inside a long current carrying solenoid are nearly —
(a) Straightline  (b) Circular (c¢) Parabolic (d) Elliptical
14.  The temperature of the material undergoing nuclear fusion should be at least —
@ 10K (b) 100K (¢) 10°K (d) 10'K
15, Light year, parsec and astronomical unit are units of
{a) Mass {b) Length {c) Time (d) Electric field
16, The number of electrons involved in bond formation of N, Molecules —
(@ 2 () 4 © 6 @ 8
17.  The valency of phosphorus in H;PO, is -
(@ 2 (b) 3 © 4 - (d 1
18.  Which substance conduct the current in the solid state —
(a) Diamond (b) Graphite (c) lodine (d) Sodium Chloride
19.  C'" and sB'! are referred as —
(a} Nuclear isomer (b) Isobars (c) Isotopes (d) Fission products

20.  Anagueous solution of ammonium acetate is —
(a) Faintly acidic (d) Faintly basic (c) Fairly acidic (d) Almost neutral
21.  Which of the following is the least random state of water ~
(a) Ice (b) Liquid water {(c) Steam (d} Al present same random state
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The most electronégative element is — '
(@ N () S (c) Cl @ O
The number of moles in 4.4 grams of CO, is

| {a) 4.4 mole (b) 1.0 mole (¢} 0.t mole (d) 10.0 mole

Metals react with oxygen to form —
(a) Acidic oxide {b) Basic oxide (c) Neutral oxide (d)y All of those
IfK and L shell of an atom are completely filled, then what will be the total number of electrons in it —

(a) 6 (b 8 (©) 10 (d 12
Number of molecules present in 8 gm of oxygen molecule is —

(ay 1.50x 107 (b) 3.022x 107 (¢) 6.022 x 107 (d) 2.07 x 10%
Least Ionisation potential is of -

{a) Na (b) K (c} Rb (d) Cs

Bronze is an Alloy of - ' '

(a) Cu+Sn (b) Cu+ Al () CutZn {(d) Zn+8n
Which of the following contains both covalent and ionic bond?

(a) NH4CI {b) H,O (¢) CClL {d) CaCl,
Perfumes have pleasant smell due to the presence of chemicals used in their synthesis which is -
(a) Aniline (b) Giycerine {c) Ester -{d) Stearic Acid
Spiral chloroplast are present in —

(a) Ulothrix (b) Spirogyra (¢) Fern ~ {d) Cycas

In a food chain which one of the following is not a consumer —

{a) Rat (b) Giraffe (c) Algae (d) Cow
Which one of the following is not present in leaf ?

(a) Phloem (b) Stomata {c) Guard cell {d) Lenticel
Which of the following animal possess vertebral column?

{(a) Cockroach {b) Hydra {c) Octopus (d) Lizard
Which of the following animal is unicellular?

(a) Sponge (b} Euglena (c) Earthworm {(d) Starfish

In which of the following Tap root is found?

(a) Maize {(b) Mustard {c) Wheat {d) Grass
Collenchyma is a —

(a) Photosynthetic tissue (b) Vascular tissue

{c) Living and Supporting tissue (d) Dead mechanical tissuc

In cells Ribosomes are the centre for -
(a) Photosynthesis (b)) Kreb’s cycle (¢) Fatmetabolism = (d} Protein synthesis
Rhizobium Bacteria belongs to following group —

(a) Bryophyta (b) Protista (¢) Fungai {d) Monera
Which of the following is an endocrine gland 7
(a) Spleen (b) Lymph gland (c) Pituitary Gland  (d) All the above

In Human generation sex is determined by —

(a) Sex chromosomes of mother (b) Size of ovum (c) Size of sperm (d) Sex chromosomes of father
Which of the following is a Monocot ? ‘

{a) Rice (Paddy) {b) Mango (¢) Pea (d) Banyan

Which one in incorrect pair ?

-(a) Star Fish — Echinodermata (b) Spider — Arthopoda

(¢} Jelly fish — Mollusca (d) Taenia — Platyhelminthes

Cell wall of which one of these is made up of cellulose —

(a) Hydra (b) Hydrilla (¢} Frog (d) All above
Important element of Haemoglobin is - '

(a) Iron (b) lodine {c) Sulphur (d} Zinc

Who is called the father of history?

(a) Karl Marx (b) Adam Smith (c) Herodctous (d)} Hippocrates
.......... is the southernmost point of the Indian mainland.

(a) Kanyakumari (b) Zafna (c) Battikaloa (d) Rameshwaram

......... was the first Chairman of the Rajya Sabha.
(a) Dr Rajendra Prasad (b) Dr Zakir Hussain (¢) Dr S Radhakrishnan (d) Dr Sachchidanand Sinha
The Yojna Ayog became the NITI Ayog in
(a) 2014 (b) 2015 (c) 2016 (d) 2019
......... was the Prime Mimnister of England at the fime of independence of India.
(a) Lord Clement Attlee (b} Winston Churchill (c¢) Ramsey MacDonald  (d) Loid George
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DELHI PUBLIC SCHOOL, BHILAI

Date : 29.09.2023 MIDTERM EXAMINATION - 2023 Time : 2 Hrs.
Class : IX Subject : Artificial Intelligence Max. Marks : 50

---------------------------------------------------------------------------------------------------------------- T L R T T T P P Y T R T e R E

General Instruction:
e Please read the instructions carefully. ‘
¢ This question paper consists of 21 questions in two sections. Section A and Section B.
e Section A has objective type questions, whereas Section B contains subjective type questions.
e Out of the given (5+16=) 21 questions, a candidate has to answer (5+10=)15 questions in the allotted
(maximum) time of 2 hours.
All the questions in a particunlar section must be attempted in the correct order.
Section A - Objective Type Questions (24 marks)
1. This section has 05 questions.
2. Marks allotted are mentioned against each question/part.
s Section B - Subjective Type Questions (26 marks)
1. This section has 16 questions
2. Marks allotted are mentioned against each question/part.

Section A: Objective Type Questions

1. Answer any 4 out of the given questions on Employability Skills. - 1%4=4
1. 1s the most noticeable aspect of non-verbal communication.
a. Feedback b. Faclal expression c. Visual aids d. Non-verbal
2. The 1s the one who decodes or interprets the message.
a. Sender b. Channel  c. Receiver d. Decoder _
3. Our also serve as a caution, and help us to protect ourselves from dangerous situation.
a. categories . b. Attitude = ¢. Prejudice d. Past experiences: .
4. A group of words that make complete sense is called a |
a. Phrase b. Sentence  ¢. Subject d. Predicate
5. A message should be ' to convey the right meaning to others.
a. Difficult b. Complex c¢. Clear d. Coded
6. Perspective is an individual’s '
" a. Belongings b. Point of view ¢. Future d. Activity
2. Answer any 5 out of the given questions on Employability Skills. _ 1%#3=5
1. People with low confidence are
a. Smart b. Pleasant  ¢. Unprepared d. Arrogant
2. The ‘8’ in SMART strategy stands for
a. Short b. Specific ¢ Scheduled d. Systematic
3. Which of these is not an ICT tool?
a. Mobile Phone b. Television c¢. E-mail d. Book
4. Which of these is not a peripheral device?
a. Register - b. Modem c. Bluetooth d. Printer
5. The is the logo of the Android operating system :
a. Red Robot b. Yellow Robot c. Green Robot d. Blue Robot _
6. When a computer starts, the process begins that checks the hardware and software installed on
the computer.
a. Beginning b. Booting  c. Backup d. BIOS
3. Answer any 5 out of the given questions on Employability Skills. 1*5=5
1. Windows is a very popular operating system because of its environment.
a. Desktop b. icons c. Recycle bin d. User friendly
2. A web page is written using language.
a. C++ _ b. Web page ¢. HTML d. Java _
3. The denotes the global address of the web documents and web resoutce.
a. UML b. XML c. URL d. SCL -
4, folder of an e-mail account contains all the received mails. * :
a. Inbox b. Drafts c. Trash d. Spam
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5. In an e-mail message, Cc stands for
a. Can Copy b. Cannot copy c. Carbon eopy d. Contaios copy

6. Social networking sites are highly popular due tor their simiple
a. Interface b. Media c. networking d. none of these

4. Answer any 5 out of the given gquestions. ' ' 1%5=

1. It is possible to conduet round the clock surveillance using a facial recognition system.
a. True b. False c. Bothaandb d. None of these

2. must have knowledge about platforms, like Fhive, Hadoop etc?
a. Coder b. Researcher c¢. Data Scientists &. None of these

3. systems are capable of true intelligence o
a. Strong Al b. Weak AT c¢.Bothaandb d. All of these

4.  Which of the following is/arc domains of Artificial Intelligence? '
a. Date b. Newral network  ¢. Computer Vision d. All of these

5. mmtelligence systems are the only type of Al systems in existence today.
a. Al Bias b. Al Access c. Artificial narrow  d. All of these.

6. Who among the following is the pioneer of the Al research?
a. (oogle b. Facebook c. US Department of Defence d. US Depariment of Justice

5. Answer any 5 out of the given questions. | 1*5=5

1. Which of the following is NOT a subfield or component of the Artificial Intelligence domain.
a. Neural Network b. Natural Language Generation
¢. Machine Transformation d. Machine Learning.

2. AlDuetisa game which uses
a. Natural language processing b. Natural image processing
¢. Computer vision | d. None of these

3. In which of the following areas has the Artificial Intelligence defeated the best brains on the Earth?
© a. Decision Making b. Natural Language Learning ¢. Strategy Games  d. None of these

4. Weak Al systems

a. Mimic Intelligent Behaviour b. Fail at reasoning based tasks
¢. Cannot handle Big Data d. Can understand emotions.
5. Which of the following is true regarding Google Pixel?
a. It is an example of Al Augmentation b. It is an example of Al Automation

c. Tt is an example of Al systems, which learn by processing data d. All of these

6. Good Al systems force users to stay within the system.
a. True b. False ¢c. Bothaandb d. None of these

Section B: Subjective type Questions: 4
Answer any 3 out of the given 5 questions. 2*3=6
6. What are peripheral devices? Give some examples

7. ‘What is communication?

8. What are the different kind of Phrases?

9. What do you understand by the term management?
10. What is SWOT?

Answer any 4 out of the glven 6 guestions. ' 2%4=8
11. What do you mean by Social Media? What is the purpose of using a social networking websites?
12. What is Recycle Bin in Windows? How does one to empty it?
13. What are peripheral devices? Give some examples.
14, What is an operating system?
15. What is the difference between RAM and ROM?
16. Define Encoding?

Answer any 3 out of the given 5 questionsf ' 4*3=12
17. Define weak Al Give any two examples
18. What are the advantages of using smart buildings?
19. Explain the Black Box Problem in Al
20. Discuss the role of Al in achieving the Sustainable Development Goals.
21. What is Data Scientist?
CECBOS T



